EARAROBREBRT —5 XN—ZXBISH—F 20224F7H20H (K) Im&sE2H

(N AR A5 HSR—AiR BRI
[xE&] 15:650,000H  23&:215,000 M ~ 33#&:130,000 9 . 43%&:85000 M . 53&:59,000H
B RS RS R 1 B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
- - SHEA : 54 - S (BHE)
1 4| DAV TI—F B4 e 1.(3_5).1 5-5-4-2 | 39.0 1 (4:22) ez
RiFTSATVIS— B:RU—T ARETa—T7—LA
. o S A : -7-6- - EHSHN (RER)
256 IRTENADYR 47 ol (17.3,;,% 10-7-6-4 | 38.6 5 (4_715; i
RIN—RRINY B:FPReHU ISHISHT7—Ls
<, e NOEEES— : -3-3- - MIKR (BEE
31811 RY—AVNT b R4 1('33/54)3 333083 : (4_417) ARERE ( )
RUTZIVAVINT ~ B:YILF—RFS TFHORIS
S BRERE— : -6-7- - ROKRE (BEE)
4111113287z v O B4 B 1.(336;.0 7-6-7-7 | 39.4 7 21_12(; A0
R:FRF S AU—-ETY— HE &—
L st 5 | LEw 1:36.1 12-12-11-8 | 38.5 | — 9 457 | TR (RER)
51710 PE—F 54.0 5 o |
R:O—IVIUY B:EFZTa4—Y Hh &=
. — BALEE :36. -4-5- . - BEOE (BEER)
i 3| RWTYN—E=— s 5 *5310 1 (326; 5 4-4-5-5 | 40.2 8 (5_03 xgﬂﬂ
R:YYRUIURIR B:7IVTAAOT 14— A4S
o NEFREEE : -1-1- - AlED (BaR
715]5 RNARZANU W o4 54.0 1(73?:? e Rl ’ f;; EPHEKEH( )
RIE-UR BFAXAAIRAR BT 7—L
=2 T — f 5 | EEEt 1:37.1 6-9-9-11 [39.9| — | 10 | 462 |BFL (BEE)
817|9|7FAREI—F 54.0 %) (3 | BERX
R:AEILN=T B:TSRTF4T7=— FREHUS
RFRFAEB : -10-10- - FHEEHE (BEE)
9 5 | RARILALS 48 & 1(/%;; 11-10-10-9 | 39.7 11 (45;) g?}é—
RFAVIITIRY BAVIA—S HE @
~)3 # 5 | ETE 1:37.3 8-8-8-10 |40.4| — 4 34 | HFLE— (BEE)
1008121 EYYauLYAv $52.0 a1/2) 1) |AE=EF
RiFxVyvY /% B:RAR—LYARI— BRRS
— » FEIBRER : -2-2-1 - BEIIB—A (RGE
1 g ISIF—Ro it 4 e 1.(327).7 2-2-2-6 | 41.7 6 (4:;21) B é ( )
R:P—RANI— B:HhYT7—Ea7 EBPBHKIS
-3 ) — 4 5 | DIERFAE 1:41.1 9-11-12-12 [ 43.3 | — 12 | 514 |FEBC @5E)
V) ¢ VAR Z v 54.0 (944) @7) | (B JPNE#f
R:FIALNSRY IR B:RI—U—F LV ELige)
@ 11— —®BIEfI
13—7— 5,8,11,3,4,9,1,12,7,6,2,10
20—F— 5,8,11,3,4,1,6,12,9,2,7,10
J=7"= 5,8,11,4,3,6,1,12,9,2,10,7
43— — 11,4,5,6,3,8,1,10,2,12,9,7
o ILRE
B B 4 190 JA R 4-6 370M4 % 5E 4-5 460M4 3EE 4-6-11 1,540
7B B 4 100 4-11 180M Fs E 4-6 980H 3EH 4-6-11 4,960
6 210 6-11 730 B8 4-6 1,260
I 1504

ABIC OV TRUTEREERRODDZE. THRIIZEL.



